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Managerial Economics

Notes

Unit 2 Demand

Analysis

Unit Structure

. Introduction

¢  Concept of Demand

. Elasticity: Meaning

s  Elasticities in Managerial Decision-making

Demand Forecasting
Summary
Keywords

Review Questions
Further Readings

Learning Objectives

At the conclusion of this unit, you should be able to:

Define the term demand

Explain the concept of demand

Understand the various types of demand
Describe the demand function and demand curve

Discuss the demand elasticities (and demand forecasting)

Introduction

Business firms may have different objectives like profit maximisation, sales maximisation,
output maximization, security of profits, satisfaction maximisation, utility maximisation,
growth maximisation or satisfying particular stakeholders. But the basic business activity
of all firms is same - they all produce and sell goods and services that are in “demand”.
Demand is the basis of all productive activities, rightly termed as “mother of production”.
It is, therefore, necessary for business managers to have clear understanding of the

following:

1. What are the sources of demand?

2. Whatare the determinants of demand?

3.  How dobuyers decide the quantity of a product to be purchased?

4. How do buyers respond to the change in a product price; their income; prices of
other goods or services; and change in other determinants of demand?

5. How cantotal or market demand for a product be assessed or forecast?

Ina market economy it is the price-mechanism that settles its fundamental problems of
what, how and for whom to produce. The price of any commodity in the market is
determined by the general interaction of the forces of demand and supply. In this unit we
will deal with the concepts of demand. Before proceeding further, we may define the term
‘commodity’ and ‘market’.
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Managerial Economics

Unit 4 Cost Analysis

Unit Structure

Notes

e Introduction

®  Cost Concepts

. Cost-output Functions

L] Economies of Scale

. Summary

° Keywords

[ Review Questions

. Further Readings

Learning Objectives

At the conclusion of this unit, you should be able to:
®  Discuss the cost concepts

®  Describe the cost-output functions

e Explain the costs in the short-run and in long-run

» Understand the economies of scale and economies of scope.

Introduction

The cost of production plays a prominent role in the analysis of price-output determination.
It is the cost of product, which governs the supply side of market-mechanism in an open
economy. When revenue and cost for an individual firm are brought together, then these
determine the output of a firm. So, cost and supply analysis is as important as demand
analysis in the theory of price.

Production function determines the cost function, laws of retumns to factor and scale,
which in return govern the behaviour of the cost of production and the shapes of cost
curves. The law of retumns to govern the shapes of short-run cost curves and the shapes of
long-run cost curves are determined by the laws of returns to scale.

TC =£(g)
TC means total cost
q denotes the level of output

Given the factor prices, total cost is the function of the output level. There are different
costs of production, which are very important in pricing of a commedity produced by the
firm in an open economy. These concepts of cost can be explained as follows:

Cost Concepts

The term cost has different meanings, so it becomes pertinent to define the term precisely.
In the traditional approach, the explicit and historical dimension of cost is considered,
whereas contrast the economic approach to cost emphasises opportunity cost rather than
historical cost and includes both explicit and implicit costs.
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Managerial Economics But the long-run average cost curve LAC is usually shown as a smooth curve fitted to the
SAC curves so that it is tangent to each of them at some point, as shown in Figure 4.6
where SAC,, SAC ,, 5AC,, SAC, and SAC; are the short-run cost curves. It is tangent to all
the SAC curves but only to one at its minimum point. The LAC is tangent to the lowest

Notes point E of the curve SAC, in Figure 4.6 at OO, optimum output, the plant SAC, which
produces this OQ optimum output at the minimum cost EO, is the optimum plant, and the
firm producing this optimum output at the minimum cost with this optimum plant is the
optimum firm. If the firm produces less than the optimum output OO, , it is not working its
plant to full capacity and if it produces beyond OO,, itis overworking its plants. In both
the cases, the plants SAC, and SAC, have higher average costs of production than the
plant SAC,.

The LAC curve is known as an “envelope’ curve because it envelopes all the SAC curves.
Every point on an envelope long-run cost curve is also a point on one of the short-run cost
curves which it envelopes. Some economists consider it as a planning curve because it is
composed of plant curves and the firm plans to expand its scale of production over the
long-run.

The long-run marginal cost (LMC) curve of the firm is derived from the SAC curves, as
illustrated in Figure 4.7 where the SAC,, SAC, and SAC, curves are enveloped by the LAC
curve at points C,, C; and C, respectively. Draw perpendiculars C,0,, C,0, and C,0,
from these respective points on the X-axis. When the points C;, C;and C..

Y4

Costs

A 4

0 0, Q, O, X
Qutput
Figure 4.7: Derivation of LMC fram SMCs and SACs

Where the curves SMC|, SMC, and SMC, cut these vertical lines, are joined, they trace out
the LMC curve. The LMC curve intersects the curves SAC, and LAC at the minimum point
C, 5o that LMC=LAC=5AC, = SMC,. Thus there exists the usual relation between marginal
and average cost curves. To the left of point C,, LAC > LMC and to its right
LMC> LAC.

The long-run average cost function of economic theory is hypothesized to be U-shaped-
Long-run average costs decline over lower range of output and rise over higher ranges of
output.
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Accountants define and measure the cost by the historical outlays of funds that take place
in the exchange or transformation of a resource. Explicit costs are those which fall under
actual or business costs entered in the books of accounts. The payments for wages and
salaries, materials, license fee, insurance etc. are the examples of explicit costs, Implicit
Cost: There are certain other costs which don’t take the form of cash outlays, nor do they
appear in the accounting systems. Such costs are known as implicit or imputed costs.

Sink costs are the expenditures that have been made in the past or that must be made in
future as part of a contractual agreement. Marginal costs refer to the change in total cost
associated with a unit of change in output. In the long-run, there are no fixed factors of
praduction and hence no fixed costs. The firm can change its size or scale of plant and
employ more or less inputs. Thus in the long-run all factors are variable and hence all
costs are variable.

Declining long-run average cost over the lower part of the range of possible output is
usually attributed to economies of scale.: Rising long-run average costs at higher level of
output are usually attributed to diseconomies of scale.

Keywords

Opportunity cost: Opportunity cost represents the return or compensation that must be
forgone as a result of the decision to employ the resources in a given activity.

Accounting cost: Accountants define and measure the cost by the historical outlays of
funds that take place in the exchange or transformation of a resource.

Explicit costs: These costs fall under actual or business costs entered in the books of
accounts. The payments for wages and salaries, materials, license fee, insurance etc. are
the examples ot explicit costs.

Implicit Cost: There are certain other costs which don’t take the form of cash outlays, nor
do they appear in the accounting systems. Such costs are known as implicit or imputed
costs.

Sink costs: These are the expenditures that have been made in the past or that must be
made in future as part of a contractual agreement.

Marginal costs: These refer to the change in total cost associated with a unit of change in
output.

Economies of scale: Declining long-run average cost over the lower part of the range of
possible output is usually attributed to economies of scale.

Driseconomies of Scale: Rising long-run average costs at higher level of output are usually
attributed to diseconomies of scale.

Review Questions
Discuss the nature of the short-run and long-run average cost curves.
2. Why isthe long-fun cost curve flatter than the short-run cost curve?

3. Explain and illustrate the traditional cost curves of a firm in the short-run and the
long-run.

4. How doeconomies and diseconomies of scale affect the LAC curve?

5. What is opportunity cost? Give some examples of opportunity cost. How are these
costs relevant for managerial decisions?

Cost Analysis

Notes
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Managerial Economics Further Readings
Karam Pal and Surrender Kumar, Managerial Economics, Excel Books
Samuelson, Stephen G. Marks, William Managerial Economics (Hardcover - Dec 29, 2008)

Christopher R. Thomas and S. Charles Maurice , Managerial Economics {Hardcover -
Mar 7,2007)
Christopher R. Thomas and $. Charles Maurice, Managerial Economics (Hardcover —
Jan 27, 2010)

Notes
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Whenever technology changes, anew cost function emerges. Thus, no cost function can
accurately account for technological change. Closely related to this is the problem of
variations in the size of the firm.

Operating efficiency can be measured in terms of rate of rerurn on investment, net profit,
retained earnings after tax and dividends, etc. Depending upon the use of a particular
measure, a particular cost efficiency may be indicated, but that may not truly reflect
“economic efficiency” or “technical efficiency”

Economic theory often mentions U-shaped nature of average cost curve, but in reality, we
come across various other types like the stair-shaped one, L-shaped learning curve or flat
bottomed average cost curve.

Managers should be able to distinguish between relevant and irrelevant costs so that the
former can be used properly in decision-making. There is possibility of diminishing returns
in the short run production processes and this will cause marginal cost to increase as
outputincreases.

Knowledge of the short run costs is crucial for pricing and output decisions while the
long run costs provide useful information for planning the growth and investment policies
of the firm.

Keywords

Cost-volume profit analysis or break-even analysis : The study of the interrelationship
among firm’s sales, costs and operating profits at various level of output levels is known
as cost-volume profit analysis or break-even analysis.

Operating efficiency: Percentage measure of a management’s ability to generatesales
revenue and to control costs. Mathematically, Income beforefixed charges x 100
Sales revenue.

Economic theory: Economic Theory provides an outlet for research in all areas of economics
based on rigorous theoretical reasoning and on topics in mathematics that are supported
by the analysis of economic problems.

Review Questions

Discuss optimum output level.

What is optimum inventory level?

Account for Economic order quantity.

What is meant by optimum scale? What is its significance?
Discuss the aspects of empirical determination of cost functions.
Describe various forms of cost functions.

Explain relevance of cost theory for managers.

Discuss relevance of the shape of cost.

e - o Y A

Explain cost and growth policy of the firm.

—
=

Interrelate cost and regulation of industry.

Application of
Cost Analysis

Notes
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Managerial Economics Further Readings
Karam Pal and Surrender Kumar, Managerial Economics, Excel Books
Samuelson, Stephen G. Marks, William Managerial Economics (Hardcover — Dec 29, 2008)

Notes
Christopher R. Thomas and S. Charles Maurice, Managerial Economics (Hardcover —Mar
7, 2007)
Christopher R. Thomas and S. Charles Maurice, Managerial Economics (Hardcover - Jan
27, 2010)
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A firm is a business or economic entity that produces goods and services for sale. Its
motive is to maximise its profit.In the perfect competitive market there are so many firms
which produce a homogeneous product. A group of these firms is known as industry.

A firm is in equilibrium when it is satisfied with its present production quantity. At its
equilibrium point the firm is getting either maximum profit or minimum loss. For a firm,
equilibrium is a position where to increase and decrease in production is not profitable
forit.

The change in total revenue due o addition of revenue by selling one more unit by a firm
is known as the marginal revenue. Marginal revenue should be equal to marginal cost is
the necessary condition for a firm's equilibrium but not the sufficient condition. Short-run
is the time period in which the firm can increase its production by increasing its variable
factor only. Long-run is the time period in which supply can be changed according to
demand.

According to Lemer monepoly power depends upon the difference between price and
marginal cost. The monopoly power increases as this difference increases.

Professor Bain measured monopoly power on the basis of difference between price and
average cost. The difference between price and average cost is known as abnormal profit.
More will be this difference more will be the abnormal profit and more will be the monopoly
power.

When a monopolist charges different prices from different consumers of the same product.
Such a situation'is described as a discriminating monopoly situation.

Keywords

Perfect competitive market : It is that market where large numbers of buyers and sellers
producing homogeneous product exit but the size of the individual sellers and buyers is
relatively so small that they cannot change the demand and supply of the product. In this
market, the price of the commaodity is determined by the industry and the firm is merely a
price taker.

Firm: A firm is a business or economic entity that produces goods and services for sale. Its
motive is to maximise its profit.

Industry: In the perfect competitive market there are so many firms which produce a
homogeneous product. A group of these firms is known as industry.

Marginal Revenue: The change in total revenue due to addition of revenue by selling one
more unit by a firm is known as the marginal revenue.

Short-rum: It is the time period in which the firm can increase its production by increasing
its variable factor only.

Long-run:1It is the time period in which supply can be changed according to demand. The
new firms can enter or the existing firms can leave the industry. The existing firms can
also change their scale of production according to their necessity.

Monopoly: Itis a market where there is only one producer of a good or service. There is
also no substitute of the good or service.

Review Questions

1. “Noproducer can be in equilibrium unless his marginal revenue and marginal cost
are equal”. Comment on this.

2. Explain with the help of a diagram how price is determined in a perfectly competitive
market.

3. How does a monopolist fix the price of the product? Is it inevitable that the monopoly
price is higher than the competitive price?

Price-output nnd
Market Structure

Notes
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Managerial Economics Further Readings

Karam Pal and Surrender Kumar, Managerial Economics, Excel Books
Samuelson, Stephen G. Marks, William Managerial Economics (Hardcover — Dec 29, 2008)

Notes
Christopher R. Thomas and 5. Charles Maurice , Managerial Economics (Hardcover— Mar
7, 2007)
Christopher R. Thomas and S. Charles Maurice, Managerial Economics (Hardcover —Jan
27, 2010)
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Managerial Economics

Unit 9 Public
Investment
Decisions

Unit Structure

P Introduction

'y Public Investment Decisions

. Risk

» Risk and the Investment Decisions

e Summary
® Keywords
® Review Questions

® Further Readings
Learning Objectives

At the conclusion of this unit, you should be able to:
e Tell about the public investment decisions

] Understand the risk and uncertainty concept in public investment decisions

Introduction

Investment decisions involve a good deal of risk and uncertainty. Lack of authentic
information, dependable data and imperfect foresight of the investor creates problems.
Different approaches have been proposed for dealing with the consequences of imperfect
ability to predict events and the investors’ risks involved therein.

Risk and uncertainty play a crucial role in all investment decisions. The element of risk
and uncertainty is involved in all decisions including the investment decisions. Economic
analysis of risk and uncertainty thus becomes crucial, especially with reference to
investment decisions.

Certainty appears to be a theoretical and impractical idea as it means that the investor has
a perfect knowledge of the investment environment such that he is definite about the size,
regularity and periadicity of flow of returns. Such situations do exist in the short-run (e.g.,
fixed deposit in a nationalised bank}. However, long-run or long-range investments are
not predictable as they are influenced by many kinds of changes that are likely to take
place with time: political, economic, market, technology, etc.

Risk is more common in the real world. A situation with more than one possible outcomes
to decisions so that the probability of each of these outcomes can be measured is a risk
situation. For example, tossing of a coin (i.e., 50-50) or investing in a stock. The greater the
number and range of outcomes, the greater is the risk associated with the decision or
action.

Uncertainty is a situation where there is more than one possible outcome to a decision but

116 the probability of each sperific cutcome occurring is not known ot even meaningful. This











http:function.It


































Keyword$

Outcome: The outcome results in either gain or loss based on a particular combination of
strategy and state of nature.

Pay-off Matrix: A pay-off matrix is a table that shows the possible outcomes or results of
each strategy under each state of nature.

Return: Return is taken as a function of risk.

Risk-secker: A risk-seeker is the one who prefers risk; given a choice between more or less
risky investments with identical expected money returns, he will select the riskier
investment.

Risk-averter: A risk-averter, faced with the same situation will select the less risky
investment.

Risk-indifferent: A risk-indifferent, faced with the same situation will be blind to the
choice; for him any investment is equally preferable to the other.

Finite Horizon Method: Here the decision procedure involves laying down a terminal
date beyond which any prospective development out of an investment activity today is
simply ruled out.

Risk discounting Method: A method more atiractive than the finite horizon method is the
use of a risk discount factor. '

Shackle Method: Shackle proposes a concept of ‘potential surprise’ which asserts that
investors think in terms of measure, which indicates how surprised they would be if, say,
outcome V transpired rather than outcome U. If there is a fifty-fifty chance of U or V,
neither outcome may really surprise us if it transpires, i.e., zero potential surprise.

Probability Theory Approach: This approach points out that no expected retum figure
can adequately represent the full range of possible alternative outcomes of a risky
investment activity.

Decision tree: A decision tree is a graphic device that shows a sequence of strategic
decisions and the expected consequences under each possible set of circumstances.

The Laplace Decision Criterion: There is Bayesian postulate that if the probabilities of
occurrences are unknown, they should be assumed equal. The Laplace criterion uses this
postulate ta calculate the expected value of each strategy: hence the Laplace criterion is
also called the ‘Bayes criterion’.

Review Questions

1.  How do the determinants of private investment differ from those bearing on public
investment?

2. Distinguish between ‘risk’ and ‘uncertainty’. Give some business examples to
illustrate the distinction.

3. Comment on the business uses and abuses of Evaluation Statistics which attempts
to measure risks.

4. Amarketing consultant, while servicing his clients has come up with five alternative
brand names, four package design of a product and three ad vertising campaigns to
be released through two media.

{a) How many strategies must management consider?
(b) Whatstates of nature might affect management’s choice? Give examples.

(¢ How can management take into account the rival’s reaction?

Public Investment Decisions

Notes
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Karam Pal and Surrender Kumar, Managerial Economics, Excel Books
Samuelson, Stephen G. Marks, William Managerial Economics (Hardcover - Dec 29, 2008)

Notes
Christopher R. Thomas and 5. Charles Maurice , Managerial Economics (Hardcover - Mar
7, 2007)
Christopher R, Thomas and S. Charles Maurice, Managerial Economics (Hardcover - Jan
27, 2010)
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Managerial Economics ' - a_m
¢ Case: Sales Maximisation Decision

A prominent advertising agency, STA, did a study to estimate the effects of advertising
expenditures on the sales of “Ex” (trademark for an instant breakfast drink) and
Notes found that the relationship between advertising expenditures and sales in two
districts were:

Q, = 10 +5X,- 15 X,?
Q, = 12+4X,~ 0.5X,2

where (), is the sales of "Ex” (in¥ crores per year) in the first district, Q, is its sales
in the second district, X, is the expenditure on advertising of “Ex” (in ¥ crores per
year) in the first district and X, the advertising expenditure in the second district.

STA wanted to determine the amount of additional sales that an extra rupee of
advertising would generate in each district. To answer this, the derivative of sales
with respect to ad vertising expenditure was calculated for each district, the result

being as follows:
g& = 5 - SXT
dX,
dQ, _ 4-X,
dX,

Thus, in each district the effect on sales of an extra rupee of advertising depended on
the amount spent on advertising. Suppose that ¥ 0.5 crore was being spent on
advertising in the first district and ¥ 1 crore in the second district,

—-=5-3(0.5) = 3.5

Consequently, an extra rupee of advertising generated an extra ¥ 3.50 of sales in the
first district and an extra ¥ 3 of sales in the second district.

Based on these findings, STA rnade a number of recommendations to Food India Ltd
concerning the regional allocation of the “Ex” brand advertising bud get. In particular,
they recommended that if General Goods wanted to boost the total sales of “Ex”,
more should be spent on advertising in the first district and less should be spent on
it in the second district. This would not mean an increase in Food India Ltd’s total
advertising budget, since the extra advertising expenditure in the first district would
be offset by the reduced advertising expenditure in the second district.

How did STA come to this conclusion? The fact that an extra rupee of advertising
would result in a greater addition to sales in the first district than in the second
indicated that a reallocation of the advertising budget was called for. To see this,
consider what would happen if a rupee extra was spent on advertising in the first
district and a rupee less spent in the second, The result as indicated above would be
an extra ¥ 3.50 of sales in the first district and ¥ 3 reduction in sales in the second.
The overall effect would be a¥ 3.50-3.00 = ¥0.50 increase in total sales. Thus if Food
India Ltd. wanted to increase the sales of "Ex” baverages, a reallocation of the
advertising budget in favour of the first district was to be recommended.
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Analysing Managerial Decisions

In the above study, STA found that the relationship between advertising expenditures
and sales in the two districts were of the following form:

Q, = 10 + 5X, - 1.5X,?
Q, = 12+4X,~0.5X,?

where Q, is “Ex"’s sales in the first district and Q2 in second district, X] is the
advertising expenditure (R in crores per year) on Ex in the first district and X;, in the
second district.

Questions

1.  IfFood India Ltd wants to maximise “Ex” sales in the first district, how much
should it spend on advertising?

2. If Food India Ltd wants to maximise "Ex” sales in the second district, how
much should it spend on advertising?

3.  Show that your answer to parts (a) and (b) maximise, rather than minimise
sales.

4.  Would you recommend Food India Ltd attempt to maximise “Ex”’s sales?
Why or Why not?

Student Activity

Gut of the following indicate the appropriate answers:

1. Whichis the mostimportant factor that will determine whether advertising by
a manufacturer will lead to higher sales:

(a) Theproduct can be differentiated
{b) Demand is elastic
{c} The productisbranded

2. A fundamental point that should be understood in deciding on the proper size
of an advertising budget is that:

(a) Increased advertising and marketing effort yield increasing returns.

(b) Sales are always a unique function of marketing and advertising
expenditures.

(¢} Increased advertising and marketing efforts yield increasing retums.
{d) The optimum advertising budget is one that maximises sales.

() Thereisalaw of diminishing returns that should guide advertising and
marketing efforts,

Summary

Advertising is a tool for manipulating the sales volume of an enterprise, like price and
product improvement. It shifts the whole demand schedule for the product, like product
improvement. Price affects the volume obtained from any given demand schedule.

Advertising provides information about the choices available to the consumers. It conveys
information about new firms, new products, discounts on products, etc.

A distinction is made between informative advertising and persuasive advertising the
informative advertising conveys information about price, places where available,
characteristics of the produrt and so on. Persuasive advertising attempts to make consumers

Notes

Advertising
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Notes

feel good about the product. It tries to convince that the product is better than the other
substitute products. In this way, it tries to influence the preferences of the buyers.

Almost every important enterprise has to find out ways of dealing with the problem of
planning its advertising budget over a period of years. It has to decide how this amount
should change from year to year with change in business conditions and how each yearly
total should be apportioned among products, territories and classes of products.

Advertising expenditure of a firm and other related promotional activities are a kind of
selling cost. However, they require a different kind of economic approach than the
production cost. Selling costs may be regarded as all costs incurred to shift the demand
curve for a particular product to the right.

Keywords

All you can Afford Approach: Here the firm spends on advertising upto the limits of its
cash resources. In practical terms this could mean that the advertising budget is setasa
result of sorne sort of dialogue between the firm’s financial and marketing directors.

Objective and Task Method: This approach tackles budget determination in the reverse
order. It first defines the objective it wants the advertising to attain. Then the aggregated
cost of all the tasks is obtained and the advertising budget is determined. This method
depends on the past experience of the firm to ascertain the fundamental relationship
between the objectives and advertising media.

The Percentage of Sales Approach: The advertising budget is set at a level equal to some
predetermined percentage or part of anticipated sales. Firms will tend to choose the
percentage which they traditionally use.Ease of decision making is a major advantage in
this approach.

Competitive Parity Approach: This method again has the attraction of apparent security.
The firm spends on advertising at the share percentage of sales assets, maximum shares
or some other variables, on its competitors in the same industry.

Return on Investment Approach: Advertising increases sales as well as builds goodwill,
The latter helps in increasing sales in future, thereby, improving the rate of return of
investment over a long period. Expenditure on advertiserment becomes an investment and
then its rate of return can be measured.

Advertising : Advertising is a too] for manipulating the sales volume of an enterprise, like
price and product improvement. It provides information about the choices available to
the consumers. It conveys information about new firms, new products, discounts on
preducts, etc.

Informative advertising: The informative advertising conveys information about price,
places where available, characteristics of the product and so on.

Persuasive advertising: Persuasive advertising attempts to make consumers feel good

-about the product.

Review Questions

1.  Whatis the importance of advertising in a modern firm?

2. What are the different methods of determining various advertising outlays?
3. What is the relation between advertising and demand?
4

Underline the method by which a firm decides about the expenditure on advertising
indifferent media.



5.  With which of the statements would you agree more? Advertising

I. aande; 2. bande; 3. aandd;
4. bandd; 5 cande;
a.  There is no point in advertising if competition is perfect. Notes

b, There is no point in amonopolist advertising his product.
¢.  Advertising tends to increase the demand for a product.
d.  Advertising has no effect on elasticity of supply in the short run.

e.  Advertising may sell more goods but in the long run, it must raise the price of
the product.

Further Readings

Karam Pal and Surrender Kumar, Managerial Economics, Excel Books
Samuelson, Stephen G. Marks, William Managerial Economics (Hardcover - Dec 29, 2008)

Christopher R. Thomas and S. Charles Maurice , Managerial Economics (Hardcover - Mar
7, 2007)

Christopher R. Thomas and S. Charles Maurice, Managerial Economics (Hardcover - Jan
27, 2010)
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Unit 12 Welfare
Rotes Economics

Unit Structure

. Introduction

. General Equilibrium

s Utility Analysis

¢ Pareto Optimality: Alternative Approach

. Criteria for Welfare Judgements

® Summary

. Keywords

* Review Questions

] Further Readings

Learning Objectives

At the conclusion of this unit, you should be able to:

U] Define the term welfare economics

¢ Understand the concept of general equilibrium, and utility analysis
* Discuss the term consumer’s surplus and producer’s surplus,
. Tell about pareto optimality

. Explain the criteria for welfare judgements

introduction

Welfare economics is a branch of economics that uses microeconomic techniques to
evaluate economic well-being, especially relative to competitive general equilibrium within
an economy as to economic efficiency and the resulting income distribution associated
withit. It analyzes social welfare, however measured, in terms of economic activities of the
individuals that comprise the theoretical society considered. Accordingly, individuals,
with associated economic activities, are the basic units for aggregating to social welfare,
whether of a group, a commmunity, or a society, and there is no “socia! welfare” apart from
the “welfare” associated with its individual units.

Welfare economics typically takes individual preferences as givenand stipulates a welfare
improvement in Pareto efficiency terms from social state A to social state B if at least one
person prefers B and no one else opposes it. There is no requirement of a unique
quantitative measure of the welfare improvement implied by this. Another aspect of welfare
treats income/ goods distribution, including equality, as a further dimension of welfare.

Thus, we can say that, welfare economics is that branch of economic theory which
investigates the nature of the policy recommendations that the economist is entitled to
make, Its literature is mostly confined to the construction of a theoretical framework which
can be applied to some actual policy problems in the real world.
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The basic assumption of the utility theory is that every consumer will seek to maximise
his total utility. This is stated in the principle of Equi-marginal Utility - that the consumer
would maximise his utility if he allocates his expenditure on various goods he consumes
such that the utility of the last rupee spent on each good is equal. In other words, a
consumer will keep buying a good until its marginal utility falls just to the level of its
price.

With this background we will have to develop a common base to cornpare the gains and
losses of consumers, producers and the government. It is not enough to know, for example,
that consumers benefit while producers lose because of a particular policy. [t should also
be known whether the gain to consumers is more than the loss to producers if policy
recommendations are to be made. For this the following two concepts must be known:

a. Consumer’sSurplus

b.  Producer’s Surplus

Consumer’s Surplus

Consumer surplus or consumers’ surplus is the monetary gain obtained by consumers
because they are able to purchase a product for a price that is less than the highest price
that they would be willing to pay Consumer s surplus is a concept introduced by Marshalt
who maintained that it can be measured in monetary units and is equal to the difference
between the amount of money that a consumer actually pays to buy a certain quantity of
a commodity x and the amount that he would be willing to pay for this quantity rather
than do without it.

Graphically the consumer’s surplus may be found by his demand curve for commeodity x
and the current market price which he cannot affect by his purchases of the commodity.
Assume that the consumer’s demand for x is a straight line (AB in Figure 12.1) and the
market price is P. At this price the consumer buys q units of X and pays an amount P for it.

However, he would be willing to pay P, for q,, P, for q, and F, for q, and so on. The fact is
that the price in the market is lower than the pnce he would be willing to spend to acquire
the quantity q. This difference is the consumer’s surplus and is the area of the triangle
PAC.
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Figure 12.1

Thus, consumer ‘s surplus is the difference between the amount people would willingly
pay for various amounts of specific goods and the amounts they do pay at market prices.
Thus the consumer s surplus can be measured as the area below the demand curve but
above the price line, i.e, area APOB in Figure 12.2.

Welfare Economics

Notes
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Managerial Economics This approach is referred to as the Pareto Optimality and it treats social optimality as a
problem of Constrained Maximisation, with the utility of some one person maximised
and each other person’s utility function serving as a constraint. Thus this approach

requires Maximise u,=f, (Xij' ......... an)
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Where X, is the quantity of commodity [ consumed by individual j and u is the utility
function.

There should be no loss in the utility of any other individual 2 tom.

W, = b(X X ) =K,
u = £k =k
Productive efficiency here can be given by
Maximise Y= qylryg-- )
Where y, is the output of any commodity 1 using quantity r}, of input K.

The requirement is that there should be no reduction in any other outputy,.......... ¥, and
the constraints given by the available quantity of each input.

Pareto optimality analysis sidesteps the issue of income distribution. The varipus
propositions developed under this approach are given below.

i.  Compare optimal allocation of goods among consumers: For any two products X
and Y and any two consumers 1 and 2, consumer 1°s marginal rate of substitution
of X for Y must be the same as that of consumer 2, i.e, to both consumers the ratio of
marginal utilities of the two products must be the same.

ii.  Productive efficiency in allocation of several inputs: An efficient use of any two
inputs [ and j, in the production of output X and Y, requires that

MP, [MP = MP‘-r/MPh,
i.e., it requires that the ratio of the marginal physical products of I and j in the

production of X be the same as the corresponding ratio for commodity Y.

ifi. Optimal relative inputs: If resources are to be allocated optimally between any two
outputs X and Y, then the marginal rate of substitution between X and Y for every

individual j=1,2........ m, who consumes some of each good must be equal to the
ratio of the marginal (social) costs of production of the two goods. That is, we must
have

mu's _ mu’ mu"s _ mu

17 mue'y  mul, mu™, mu








http:conditio.1S















